

621.391

...

...

...

...

... [2], ...

... [1 - 3], ...

...

... [1-3] ...

... $\vec{r} \in Z$...

... [3]. $\dot{o}(t, \vec{r})$... [3] $\dot{o}(t, \vec{r}) = S(t, \vec{r}, S, v) + n(t, \vec{r}),$ (1)

... [2] $R(t, x, y) = \frac{N_0}{2f} u(t, x, y),$ (2)

... $S(t, \vec{r}, S, v),$... $\vec{r},$... $t,$

$$\vec{j} = (s, v).$$

$$f(\vec{j}) = \frac{1}{A_Z} \int \exp\left\{-j2f \frac{\vec{p}\vec{r}}{c}\right\} d\vec{r}. \quad (11)$$

(S₀, v₀)

$$q(\vec{j}) = q(s, v) \quad (3)$$

$$|\vec{j}_i - \vec{j}_j| > \Delta\vec{j},$$

$$y(t, \vec{r}) = s_0 \exp\left\{-j2f \frac{\vec{p}\vec{r}}{c}\right\} + n(t, \vec{r}). \quad (12)$$

Δj̄ -

$$r_0 = r \cos(s - x) \cos a \quad (4)$$

$$q_{A10110}(s, v) = \int_0^{R/2f} \int_0^{2f} s_0 \exp\left\{-j \frac{2f}{c} r [\cos v_0 \cos(a - s_0) - \cos v \cos(a - s)]\right\} dr da + \int_y n(t, r) \exp\left\{j \frac{2f}{c} \vec{p}\vec{r}\right\} d\vec{r}. \quad (13)$$

$$s(t_1, t_2, \vec{r}_1, \vec{r}_2) = s(t_1 - t_2, \vec{r}_1 - \vec{r}_2) = \frac{2f}{N_0 c^2} u(t_1 - t_2, x_1 - x_2, y_1 - y_2) \quad (5)$$

$$q(\vec{j}) = k \exp\left\{\frac{2f}{N_0 c^2} \int_{-T}^T \int_Z y(t, \vec{r}) s(t, \vec{r}, s, v) dt d\vec{r}\right\} \cdot S(t, \vec{r}, \vec{j}) \quad (6)$$

$$S(t, r', s, v) = S_0 \exp\left\{-j \frac{2f}{c} r' \cos(\hat{v}' - v_0) \cos(a - s_0 - \hat{s}')\right\}. \quad (14)$$

$$S = S_0 \exp\left\{i\check{S}_0 t - \frac{\vec{r}\vec{p}}{c}\right\} = S_0 \exp\left\{i\check{S}_0 \left(t - \frac{r}{c} \cos v \cos(a - s)\right)\right\}, \quad (7)$$

$$Y_{A10} = \int_0^{R/2f} \int_0^{2f} S_0 \exp\left\{-j \frac{2f}{c} r' \cos(v_0 - v_0) \cos(a - s_0 - \hat{s}')\right\} dr' da + \int_Z n(t, \vec{r}') d\vec{r}', \quad (15)$$

$$q(\vec{j}) = \int_{-N}^T s_0 \exp\{j\check{S}_0 t\} dt \int_Z y(t, \vec{r}) \exp\left\{-j2f \frac{\vec{p}\vec{r}}{c}\right\} d\vec{r}. \quad (8)$$

(14) (15)

$$q(\vec{j}, t) = \int_Z y(t, \vec{r}) \exp\left\{-j2f \frac{\vec{p}\vec{r}}{c}\right\} d\vec{r}, \quad (9)$$

() , -

$$q(\vec{j}) = \int_{-N}^T q(\vec{j}, t) s_0 \exp\{j\check{S}_0 t\} dt. \quad (10)$$

(S, v)

(9), “ ”

$$\mathbb{E}(\hat{s}, \hat{v}) = C \int_Z \int_Z S(t, \vec{r}, s, v) S^*(t, \vec{r}, s + \hat{s}, v + \hat{v}) dt d\vec{r}. \quad (16)$$

(S, v).

(9)

$$S(t, \vec{r}, S, v) = S_0 \exp\left\{j2ff_0\left(t - \frac{\vec{p}\vec{r}}{c}\right)\right\}. \quad (17)$$

(17) (16) :

$$\begin{aligned} \mathbb{E}(\hat{S}, \hat{v}) &= C \int_{-T}^T \int_0^{R2f} \int_0^{R2f} S_0^2 \exp\left\{-j2ff_0\left[t - \frac{r}{c} \cos v \cos(a - S)\right]\right\} \times \\ &\times \exp\left\{j2ff_0\left[t - \frac{r}{c} \cos(v - \hat{v}) \cos(a - S - \hat{S})\right]\right\} r dr dtda = \\ &\mathbb{E}(\hat{S}, \hat{v}) = \end{aligned} \quad (18)$$

$$S_0^2 \int_0^{R2f} \int_0^{R2f} \exp\left\{j2f \frac{r}{c} [\cos v \cos(a - S) - \cos(v - \hat{v}) \cos(a - S - \hat{S})]\right\} r dr da$$

$$\begin{aligned} A &= \cos v \cos S - \cos(v + \hat{v}) \cos(S + \hat{S}); \\ B &= \cos v \sin S - \cos(v + \hat{v}) \sin(S + \hat{S}); \\ D^2 &= A^2 + B^2 = \cos^2 v + \cos^2(v + \hat{v}) - \\ &- 2 \cos v \cos(v + \hat{v}) \cos \hat{S}; \\ x &= \arctg \frac{B}{A}, \end{aligned} \quad (19)$$

$$\begin{aligned} \mathbb{E}(\hat{S}, \hat{v}) &= S_0^2 2T \int_0^{R2f} \int_0^{R2f} \exp\left\{j2f \frac{r}{c} D \cos(a - x)\right\} r dr da = \\ &= S_0^2 2T 2f \int_0^R \int_0^R I_0\left(2f \frac{r}{c} D\right) dr = 2Q \frac{I_1\left(2f \frac{R}{c} D\right)}{2f \frac{R}{c} D}. \end{aligned} \quad (20)$$

$$Q = S_0^2 2TfR^2 - ;$$

$I_1(x)$ [18],

$$\mathbb{E}(\hat{S}, \hat{v}) = 2Q \left[\frac{1}{2} - \frac{1}{16} \left(2f \frac{R}{c} D\right)^2 \right]. \quad (21)$$

$$: = -1.$$

(5)

$$\begin{aligned} \sum_{\hat{S}\hat{v}} &= \sum_{\hat{S}\hat{v}} \langle (S - S^*)(v - v^*) \rangle = 0, \\ \dagger_{\hat{S}}^2 &= \sum_{\hat{S}\hat{S}} \langle (S - S^*)^2 \rangle = \frac{N_0}{Q \left(2f \frac{R}{c}\right)^2 \cos^2 v}, \\ \dagger_{\hat{v}}^2 &= \sum_{\hat{v}\hat{v}} \langle (v - v^*)^2 \rangle = \frac{N_0}{Q \left(2f \frac{R}{c}\right)^2 \sin^2 v}. \end{aligned} \quad (22)$$

v

R/A.

()

1.

// : / . . . , 1984. - 272 .

2.

// : / . . . , 1980. - 352 .

3.

2007. - 512 .

4.

/ . . . , 1986. - 264 . // :

5.

// : / . . . , 1984. - 224 .

6.

/ . . . // : , 1987. - 320 .

24.12.2012

ij

THE USE OF ANTENNAS WITH PLANAR APERTURE FOR OPTIMAL PROCESSING SPACE-TIME SIGNALS

E.S. Kozelkova, T.V. Uvarova

The article deals with the determination of the optimal space-time processing of the received signals using antenna systems with a flat aperture.

Keywords: *antenna with a flat aperture directivity pattern, resolution, spatial signal processing.*